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[15] [a] xxf cos)(   , 1a [b] xxxf  2)(  , 2a

[16] 5.1  feet per minute

[17] )2(24  xy

[18] [a] If the baseball hits the car at 20  ft/s, it will cost 30$  to repair the damage.

[b] If the baseball hits the car at 20  ft/s, it would cost 30$ more to repair the damage for each ft/s faster the baseball hit the car. 
[c] No. The faster the baseball hits the car, the more it would cost to repair the damage.

[19] [a] If the price per application is 10$ , the vendor sells 15  applications per day.

[b] If the price per application is 10$ , the vendor will sell 5  fewer applications per day for each dollar he raises the price per
application.

[c] Maybe, maybe not. In general, raising the price per application (making the application more expensive) should cause a
decrease in the number of applications sold per day. However, if the price is set too low, people may not buy the application
because they think it isn’t a good product. In that case, raising the price per application might make the application look more
valuable, and therefore result in more people buying it.

[20] )2(f  < )4(f   < 0  < )2(f   < )4(f
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